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T3S EE SR SHI3ERE
(dB) R2.1.29,30 R3.1.25,26 R4.1.27,28
EailE hEER B XE(E BEE BEE BEE
AES 1 (BEA) & 50 F 43 49 46
AES1 FEA) B 60T 39 53 49
AES1 (F=EA) ¥ 50T 43 43 44
BES 1 (BHE) & 45 F 46 38 39
AES2 (e=E) ;| 50T 46 49 47
AES2 (eE=A) B 60T 44 57 57
AES2 (k@) 4] 50T 44 45 44
AES2 (LEA) &|  A5UTF 52 40 40
BES3 () A 501 F 45 49 46
AES3 () B 60LLF 42 53 52
AES3 (BR) & 50LLF 45 48 44
AES3 () & 45 F 56 43 40
¥RENEIE (dB) A E(E A E(E A E(E
AES1 F=EA) B 60T 35 36 31
AES1 (BEA) &| 55T 25K % 30K % 31
AES2 GeEf) B 60T 36 39 34
AES2 (L=EA) &| 55UF 25K % 30K % 33
AES3 (@A) B 60LLTF 33 30K % 44
AES3 () & 55 F 32 30 44
B fiE sk L (iE R1.8.27 R2.1.30 R2.7.21 R3.1.26 R3.7.5 R4.1.27
S8 (°0) — - - 35.2 16.5 35.2 7.0
e - - - it} [E3i] Pii] Eakii]
FUEZT 0.6LLF 0.1 7 0.1FKm 0.1 0.1k 0.1FKm 0.1k
AFLxh7gr | 0.0007AF | 0.00025&3% | 0.00025&3% | 0.00025&3% | 0.0002:&% | 0.00025k3% | 0.00025k7
HiLkE 0.006.AF 0.002%k % 0.002% % 0.0025 5% 0.002% % 0.0025 3% 0.002% 3%
Fib X F L 0.002LF 0.001% % 0.001%% 0.001% % 0.001k % 0.001%% 0.001% %
WA F L 0.003XF | 0.0009%k3% | 0.0009%3 | 0.0009:k3 | 0.0009%k3% | 0.0009%k3 | 0.0009%3
FUXFLT I 0.001LTF . - 0.0005k5#% | 0.0005k5% | 0.0005K5# | 0.00057k#
7L r7LFE R 0.01XF - - 0.0053k % 0.0053% 3% 0.0053k % 0.0053% 3%
oerr7iL7Fe K| 0.02LF - - 0.0055K 7 0.0055K# 0.0055K 7 0.005k
snwn7Frrase k| 0.003TF - - 0.00095%3% | 0.0009%3% | 0.0009%% | 0.0009%%
4y 7FLT7LTE R| 0.008LLF - - 0.002% 3% 0.0025 5% 0.002% 3% 0.0025 5%
snzwnsearase R 0.0040F - - 0.00095%3% | 0.0009%3% [ 0.0009%% | 0.0009%%
4L ATLTE R| 0.001LLF - - 0.0003%3% | 0.0003%% | 0.0003%% | 0.0003%%
AV TR —I 0.2LTF - - 0.09K 0.09K % 0.09K 0.095K %
BEfE T F )L 1UTF - - 0.3 0.3 0.3 0.3
FAAy7For | 0.TLF - - 0.1 0.1 0.15K% 0.1
I 5LIF - - 1K 12K 1K) 1R
EEA, 0.5LUF - - 0.04k3% 0.045 % 0.045% 3% 0.043%
2FL v 0.2LLF - - 0.1k 7 0.1K 7% 0.1k 7 0.1K&
IO g 0.01LF - - 0.003K % 0.003K % 0.003K 0.003Ki
J LT LESER 0.004LLF - - 0.00013%3% | 0.0001%k3% [ 0.0001%k% | 0.0001%k%
J LT LEER 0.0005X4F - - 0.000095% | 0.000095% | 0.00009%% | 0.00009k %
(Y EER 0.0004XLF - - 0.0001%3% | 0.0001%k#% | 0.0001%k% | 0.0001%k%
BERE 10LLF 10K 10K 105K INES 105k 105k
BLREE 2LLTF - - 0.6 0.3 0 0
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